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Note:- You have four choices for each objective type question as A, B, C
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G and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will

result in zero mark in that question.

# e -k i- = B Wb y
When Uranium ( 92 protons) ejects a (4 Z-bad sy Luiie t/0b Bl & (754 92) faer -1

beta particle, how many protons will be in the remaining nucleus?

91 (D) 93 (C) 90 (B) 89 (A)

. The brain of any computer system is etk Pl $i\2
control unit & s# (D) CPU s} (C) memory (ot (.B} monitor <~ (A)

In computer terminology, infermation means e L w!u.gj';fra/zr/ =3
raw data ks P (8) any data L&Y ®

large data k5ol (D) processed data &3 Azsy (QL
The process by which electrons are emitted by a hot -« ru» Un b /s/ﬁia.., oi J"",“ O > VAV I
metai surface Is known as

evaporation gl (B) boiling By (A)
thermionic emission 0, ~‘IJ3,{/ {D) . conduction f;f (C)

If the current in a wire U3 E& 3 &Y, .; ;l;i'é_t?gw:: ﬂlﬁJﬁfllzé = s d:f: i LS

which is placed perpendicular to a magnetic field be increased, the interacting magnetic force on a wire

will decrease ROV will increase ley @y
will be zero Jﬁ/“’ (D) will remain same if:’su’.‘.{,‘_’i (C)
S| unit of electric current is ~c2y 8l Kt/
Volt (V)& (D) Watt (W) <=y (C) ampere (A) 4% (B) ~ Newton (N) ¢ (A)
An electric current in conductor is due to the flow of - ,:7:\;‘.'_; ,.;.i,;:_;f;?-u:/jy’ ol
negative ions ;?'?é:*? (B) positive ions AT ghiy (A)
free electrons 5120 557 (D) positive charges 7y iy (C)

. A positive electric charge

attracts other positive charge

repels other positive charge

repels a neutral charge < t/Ex. g % (D)

Types of reflection are

5 4

(D)
A converging mirror with €/ e K()'

attracts neutral charge
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< t/Cs S ditem (B)
< t/07 Pl (©
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_U"‘?f"ﬁ'd/o}g? -9
(©) 3 (B) 2 (Ar
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e PGSl b L30 eMe. /20 cmURL. € Ly Lo P

a radius of 20cm creates a real image at 30 cm from the mirror. What is the object's distance?

-10

+20cm (D) +15cm (C) +7.5cm (B) +5.0cm (A)
Which form of energy is sound? ‘e f;’ffJJ;f A 211
chemical -V%( (D) thermal J/;‘ mechanical f"g (B) elecrtrical Jg-/’?i (A)
Waves transfer ‘953/@_'5.;5: =12
velocity (s (D) wavelength .z?@;js (C) frequency 7/ (B) energy gs (A

\
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Note : Section | is compulsory. Attempt any Two questions from Section II.

(Section -1 Jil.)

2. Write short answers to any Five Parts : (5x2=10) _zf::..-.,uz/#&rméga.df -2
I. What is meant by wave motion? . f‘q_;f/y’c;cfrg,- -
ii. A wave moving on a slinky with frequency of 4HZ -< 04 mﬁ@l ¥ nl4Hz J;":) u/ ¥ fo}/f_,-:r £ Ja' -
and wave length 0.4 m. What is the speed of the wave? _ e _Lf Sy
lii. What is meant by intensity of sound? Write its unit iy e e SRS e i

iv. What is the audible frequency range for human ?q_?JﬁJJfa.yUf./ st ?;,fl_.ﬁmg,( kiLf:JL’L,»“l?&‘:i/db’GlJf N
ear? Does this range vary with respect to age of people?
[ J"’/ Yoz {= # o P e e % %f.i/ o bl /.f'/' 7 /d{d 7
9970 u;.dy:b’u e TR GG VAL -y S e #1585 FQ B Aot Bl oLy
-« 332ms™ a( HSES
v- Flash of light is seen 1.5 second earlier than the thunder. How far away is the cloud in which the flash has
occured. Speed of sound is  332ms~"

vi. Define electric current and write its unit. M&U 2 sl é:.' _g}o’_w’ Jfﬁ:/"'l N

vii’ Prove that I KWh = 36 MJ -’r,i:-:-r.t‘ -vii

viii. Differentiate between A.C and D.C. '« J/V v £ DCH AC v
3. Write short answers to any Five Parts : (5x2=10) ..-’cf.':aLfﬁ/Bﬁer'grkbL;/ -3

I Draw the ray diagram of simple microscope. _z';”_t;,*'f 28] :_;J.f 5; D -l

t Whatis meant by near sightedness? == At ~- 3 i
iii. Define near point of eye. CE ) B L FT L
Iv. How a body is charged negatively? ‘-’-_’-F?klké/’wguf:}]"’?-? -

v. Define variable capacitor. - _E IS -
vi. Differentiate between data and information. e OAVATUS i 3 Vi
i Write two uses of optical fiber. S e AT _vin—
viii. What is meant by word processing? el e Ly i Viee

4. Write short answers to any Five Parts: (5x2=10) -ﬂsakiﬁfﬁﬁowgf{-c—&/ -4

I Define mutual induction. SE ST S e

ii. Describe relay briefly, gl LS i o
ii. What is meant by AND operation? Draw the diagram of AND gate. _’_;i:.,(I/'EUJJ,fJ:;i fe "'/'::':-‘—o%;*' & i —
v. Differentiate between analogue and digital quantities. SO LU S Ny e

v. Write the name of main services available on internet. & Ll alsfidhin Mo «‘.ﬂ—ii‘-’:-‘-:?f"' -V
vi. Whatis meant by Isotopes? Write the name of Isotopes of _.e_fr:éud},ﬁ.{.i_-f-,,jﬂ e :'/l_.;'::.ufr':: P

Hydrogen.
vii. Describe any two hazards of radiations. A N Si,
vii. What is meant by artificial radioactivity. CespUe (0 pinis T e

g_&ction -1, = (9 )
(Each question carries Nine (4+5=9)marks ;J!'/ 4+5=9)J f.d-‘nr)

5.(a) Define simple Harmonic S‘{_.Jr..fmi‘. ol Sen& L o S _.’;f.f..é/‘?u‘_;ir’-;r‘q o (a)-5
Motion. Show that motion of mass attached to a spring is simple harmonic motion. )
(b) An object is placed _ér,v“’gff.:,;'f@:* —etnty sl 6 em L & ‘IO_cmi”-{f:" Sy & K)-«ﬁ (b)
at 6 cm infront of a concave mirror that has focal length 10 cm . Determine the location of the image?
6.(a) Determine the equivalent resistance of series connected in _?f_:‘.s"-"‘ S Jsud’g'/;; aff;..ﬁﬁaé;.i' v (a)-6
series.
bl .;J-’:'JP’J' el ) :(@;i';- 100 C /'}* - 10V ._':,-EJJH{_._:JQ_‘..QLJV-{J{'._.’;: (b}
(b)  The potential at a point in an electric fieldis 10V . If a charge of 100uC ‘:‘fz_.gt/:.'f.- L'l':;\," ¥
is brought from infinity to this point , what would be the amount of work done on it? )
7.(a) Explain four components of computer based -2:;-“—‘1.-'7!.}/;,"@:57{06’: (CBIS)A ™ JZdtiated  (a)-7

information system (CBIS). |
G W& onr 5 = bl 14- uk - Jb 5730 S S 14- € (b)
(b) Carbon -14 has a half life of 5730 years. How long will it take for the quantity of carbon -14 in a sample to

drop to one- eighth of the initial quantity.
113 - 218 - 33000



